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X = 694274.7898     Y
 = 9150771.4302

X = 694276.1958     Y
 = 9150774.9831

X = 694274.7172     Y
 = 9150771.6165

X = 694277.1398     Y
 = 9150772.5605

X = 694277.2124     Y
 = 9150772.3741

X = 694275.7338     Y
 = 9150769.0076

X = 694278.1564     Y
 = 9150769.9515

X = 694273.7732     Y
 = 9150774.0391

X = 694261.8938     Y
 = 9150770.0007

X = 694266.0868     Y
 = 9150771.6344

X = 694264.2537     Y
 = 9150763.9442

X = 694268.4467     Y
 = 9150765.5779

X = 694239.2612     Y
 = 9150761.1820

X = 694243.4542     Y
 = 9150762.8158

X = 694241.6211     Y
 = 9150755.1255

X = 694245.8140     Y
 = 9150756.7593

X = 694230.5681     Y
 = 9150754.1994

X = 694232.9907     Y
 = 9150755.1434

X = 694231.5120     Y
 = 9150751.7768

X = 694233.9346     Y
 = 9150752.7208

X = 694229.5515     Y
 = 9150756.8084

X = 694231.9741     Y
 = 9150757.7523

X = 694230.4955     Y
 = 9150754.3858

X = 694232.9181     Y
 = 9150755.3297
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X = 694265.2075     Y
 = 9150767.8038 

X = 694276.4731     Y
 = 9150770.6909

X = 694275.4565     Y
 = 9150773.2998

X = 694242.5004     Y
 = 9150758.9561
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12287 + 19,97m
X = 694232.2513     Y

 = 9150753.4601
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12287 + 19,97m
X = 694231.2348     Y

 = 9150756.0691
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